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And one, who was warning, in the middle — pBNa 7R TN

OVERVIEW

The 71wn, when it states the cases of two 207y seeing from one window and two
other 7V seeing it from another window (regarding whether they are combined as
one set or divided as two sets), adds that there was another person (in the middle
[between the windows]) warning the alleged perpetrator. N800 discusses the need
for mentioning this additional (fifth) person.

nooIN asks: ,
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It is astounding! For why was it necessary for the 71w» to state and one other
person who was not from the four witnesses was warning —

N1B0IN answers:
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And others explain that the 71w» mentions a separate 77n», because of the first

(following) case where the miwn states, ‘if these w1tnesses see the other witnesses -
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And presumably this is accomplished through the 79n%» who says to these and
those 2°7v, ‘see the evil act that this person did’.

mooin offers an alternate explanation:
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And it is the view of n''>w» (my teacher '>mw) that the 71w» mentions the 77nn
to exclude the opinion of so1° ' who states in the end of the 71wn -
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That the accused is not liable for punishment unless the ‘mouth’ of two 27y
warn him, therefore the p"n (disagrees and) states that it is sufficient for one
person to warn him and even if he is not one of the o>7v.

SUMMARY

!t is advisable to learn this Mmoo in conjunction with X7 17"7 '0n.
* The 7702 could just as well be one of the four 27y who saw the act, why mention an additional person who is not
(even) an 7¥. See ‘Thinking it over’ # 1.
3 The ‘simple’ reading of Mo would indicate that maon is offering a ‘practical’ reason why we mention the 7m;
because he is the cause how it came about that the two sets of 0>7¥ saw each other. ‘Others’ however maintain that
moon is saying that the 77nn, by (seeing both sets of 0*7v or) having both sets of 2>7¥ see him, accomplishes that it
is considered 17% NX 17X 1°K17 In¥PR even though the sets of 0>y did not see each other. This is the meaning of XnnonY'
70 "y 1377, that both sets of 07y saw the 7170, and NBOIN continues to prove that both sets of o7y saw the 7707,
since 191 D1¥2 MW, See in a later X7 7"7 MO, where there is a dispute between the D°w95n w> and n'™wn
regarding this issue, whether the 77nn is 77%7 or not. See ‘Thinking it over® # 2.
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The 71wn mentions the 77N, either because it is he who brings about the jnxpn
IR DR 19X PRI, or to negate the view of *01° " who requires two 0°7¥ to be 0.

THINKING IT OVER

1. Mmoo asks why mention an independent 7nn.* Perhaps the m1wn needs an
independent 77nn, for if the 77nn would be one of the 0’7, and he would see the
other set, or they would see him it would always be considered nNX 12X X171 Jn¥PR
1ox.” What is mooin question?®

2. Is MmN assumption that 121 770R7 2"V 1170 X1PN0MY, more convincing according
to the ‘simple’ interpretation of 'DIn (in footnote # 2) or according to the
interpretation of the ‘others’?

* See footnote # 2.
3 See footnote # 3.
% See iy o1,
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